EECS20n, Quiz 5, 12/3/01

The quiz will take 15 minutes. Write your reponse on the sheet. Use the back if you need more
space.

Please print your name here:

Last Name First Lab

Consider a continuous-time system with input signal 2 and output signal y where
VtcReals, y(t)=x(t)e™!

where w; > 0 isarea number.

1. Givethe Fourier transform Y of y interms of the Fourier transform X of z.
Solution:

o0

Y(w) = / y(t)e~tdt
= /x(t)eiwlte*iwtdt

—00
o0

= / x(t)efi(wfwl)tdt

—0o0

= X(w—uw).

2. Isthe system linear?
Solution: Yes.

3. Isthe system time invariant?
Solution: No.

For reference, the continuous-time Fourier transform relation is

X(w) = / 2(t)e~tdt,
Theinverserelation is -
1
z(t) = oy / X (w)e™!dw



